M8 Which is the correct antonym of AFFIRM?
A. Confirm B. Certain
C. Contradict D. None of 've

B Wiich ome is the correet anslopy of Scalpier : Statne?
A. Poet : Canvas B. Pen : Writer
C. Poet : . Chisl:Cook

%nt:stkemumugofthepkmse Baclr.to
square one?

A. To Start again B. To back to basic

C. To be back at home  D. None of above

" Fill m the Mauks
This is the ___ one among the three books I have

read recently.
A. good B. better
C. best D. well

08. Whlch is the cnrrect narratlon of the follomng
sentence: He said to me, "I am ready''?
A. He told to me that he is ready
B. He told me that he was ready
C. He told me that I am ready
D. He told me that I will ready

[ He went to the Stadium Market
A. with taxi B. by taxi
C. on taxi D. in taxi

What does this idiom mean:
A necessary evil?
A. A bad person who does good deeds
B. Something that you do not like but must accept
C. An evil who is necessary for us

D. N(me of above
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' What does this phrase mean: At one's wit's end?

A. Perplexed B. Clear up

C. Explain D. Enlightened
[N : At one's wit's end - Z53% (perplexed)
Ans : A,
10. Which one is the passive form of the following

sentence:

"Our army won the battle"?

A. The battle was won by our army

B. The battle is won by our army

C. The battle has been won by our army

D. Our battle was won by the army
TJNT : Active: Our army won the battle.

Passive:The battle was won by our army.
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Synonym: Agreeable, Frank, Open-hearted, Outgiving.
Antonym: Devious, Guarded, Reserved.
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Synonyms: Sell, Encash, Sale.

Antonyms: Buy, Wholesale, Purchase, Acquire.
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A. Original B. Novel
C. Unheard of D. All
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15. Find the correct spelling.
A. Acquainttance
C. Accquaintance
1t : g correct spelling :
e Acquaintance - e {5 |
o Acquiescence - G IS |
e Acquire - W& 1 |
e Acquittance - ¥4 sffareis |
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B. Acqquaintance
D. Acquaintance
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